READING COMPREHENSIONS_34

A. The researchers in these companies claim that they could do better byallowing their
employees to doze off at work place.

B. The dreams, while at work, are thus helpful to solve crucial problems.

C. Would you believe that some UK based companies are arranging forbed at the work
place?

D. The reason, they claim, could be that dreams produce creativesolutions.
E. We only hope that these crucial problems in UK are different fromthose of ours.
F. But it is true and is considered as a step to improve quality of theirproducts.
1. Which of the following should be the First sentence afterrearrangement?
a)A
b) B
c)C
d)D
5. Which of the following should be the Third sentence afterrearrangement?
a)A
b) B
c)C
d)D
6. Which of the following should be the Fourth sentence afterrearrangement?
a)A
b) B
c)C
d)D

4. Which of the following should be the Fifth sentence afterrearrangement?



a)A
b) B
c)C
d)D
5. Which of the following should be the Sixth sentence afterrearrangement?
a)A
b) B
c)C
d)E

In the following sentence, an idiomatic expression or a proverb is highlighted. Select
the alternative which best describes its use in the sentence.

6. Mrs.Nayakopened the discussion on the alarming rate of povertyin India.
a) Started the discussion
b) Gave her opinion in the discussion
c) Did not agree on the discussion
d) Welcomed the people to the discussion
7. The course of events made it necessary for Joseph to start working.
a) Events that were planned
b) Long list of future events
c¢) A succession of unexpected events
d) Nature of events that followed after Joseph joined work
8. The new law on 'Right to Food Safety' will come into force nextmonth.
a) Be forced upon the people
b) Be associated from next month onwards
c) Be implemented next month

d) Be withdrawn next month



9. When the girl wanted to stay out past midnight, her father put hisfoot down.
a) Gave in to her request
b) Walked away disapprovingly
c) Obstructed her from leaving the house

d) Requested her to be home on time



Answer:-

. Option C
. Option A
. Option D
. Option B
. Option D
. Option A
. Option C
. Option C

. Option C



